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Topic 2, Exam Set B

What are two reasons why a datastore in a Storage DRS cluster cannot enter maintenance mode?
(Choose two.)

A. Storage latency is too high to allow Storage DRS initiate Storage vMotion.
B. Rules prevent Storage DRS from making migration recommendations.

C. Storage DRS is disabled on the virtual disk.

D. Storage DRS is configured for a VMFS3 datastore.

Answer: B C

Explanation:

Problem

A datastore in a datastore cluster cannot either maintenance mode. The Entering Maintenance Mode
status remains at 1%.

Cause

One or more disks on the datastore cannot be migrated with Storage vMotion. This condition can occur
in the following instances.

Storage DRS is disabled on the disk

Storage DRS rules prevent Storage DRS from making migration recommendations for the disk.

DRS is set to Fully-Automated mode and seems to be migrating virtual machines too frequently.
Which action can potentially decrease the amount of automated migrations performed by DRS?

A. Increase the Migration Threshold by moving the slider to the right.
B. Decrease the Migration Threshold by moving the slider to the left.
C. Set DRS to Partially-Automated mode.

D. Enable EVC for the cluster.

Answer: B

When checking the distribution of virtual machines within a Fully Automated DRS cluster, an
administrator notices an uneven spread across the hosts.
Which advanced option within DRS would attempt to evenly balance VMs across the hosts?
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A. Disable DPM.

B. Set DRS Migration Threshold to Aggressive.

C. Enable VM Distribution.

D. Migrate virtual machines to a Distributed Switch.

Answer: C

What is the default space threshold for vSphere Storage DRS?

A. 90%
B. 70%
C. 95%
D. 80%

Answer: D

Explanation:

https://kb.vmware.com/s/article/2149938

Load balancing based on Space and 10: Storage DRS dynamically balance the Storage DRS cluster
imbalance based on Space and 10 threshold set. Default space threshold per datastore is 80% and
default 10 latency threshold is 15ms.

Which three options are available for remediation with Proactive HA? (Choose three.)

A. Quarantine mode for moderate and Power off for severe failure.

B. Quarantine mode for all failures.

C. Power off for all failures.

D. Quarantine mode for moderate and Maintenance mode for severe failure.
E. Maintenance mode for all failures.

Answer: BD E

Topic 1, Exam Set A
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Which component must be deployed before using encrypted virtual machines in a vSphere 6.5
environment?

A. vCenter Server must use CA signed certificates
B. a host with supported Trusted Platform Module
C. supported password vault

D. External Key Management Server

Answer: D

When installing vCenter Converter Standalone, why must an administrator perform a client-server
installation instead of a local installation?

A. to manage conversion tasks remotely

B. to convert virtual machines as well as physical machines

C. to allow installation of the Converter agent on remote source machines
D. to hot clone physical or virtual machines

Answer: A

Which two statements correctly describe VM-VM affinity rules? (Choose two.)

A. vSphere DRS attempts to keep the virtual machines together on the same ESXi host.

B. When two VM-VM affinity rules conflict, the older one takes precedence and the newer rule is
disabled.

C. vSphere DRS attempts to keep the virtual machines on separate ESXi hosts.

D. When two VM-VM affinity rules conflict, the newer one takes precedence and the older rule is
disabled.

Answer: AB

Which are the two storage options for a Content Library when using the VMware vCenter Appliance?
(Choose two.)

A. FTP
B. NFS

Visit us athttps://www.certsgrade.com/pdf/2v0-622pse-2/


https://www.certsgrade.com/pdf/2v0-622pse-2/

C. CIFS
D. VMFS

Answer: BD

Explanation:

When you create a local library, you can store its contents on a datastore managed by the vCenter
Server instance or on a remote file system.

Depending on the type of storage that you have, you can use Virtual Machine File System (VMFS) or
Network

File System (NFS) for storing content on a datastore.

Which system traffic type cannot be configured with Network 1/O Control (NIOC) bandwidth allocation?

Virtual SAN traffic

ESXi host Management traffic
vSphere Replication traffic

. Software FCoE Adapter traffic

oo w»

Answer: D

Explanation:

You can use NIOC to assign bandwidth for host management, virtual machines, iSCSI storage, NFS
storage, vSphere vMotion, vSphere Fault Tolerance, vSAN, and vSphere Replication on the physical
adapters that are connected to a vSphere Distributed Switch but not Fcoe Adapter traffic.
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